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élrr)185cm + 7m = | 3m385cm (6Ir|r35'7cm — bB4cm = 6m3cm
lﬁr)18'7cm + 3cm = 4mY90cm (Ilé)m |Ocm —8m = Z2m|0Ocm
é?cm + 10m23cm = [0Om380cm (Ilz)m'70cm —bm = 9m70cm
ZI(-LFLT)I6OCFTI + 30cm = 4m90cm (Ilg)m'73cm —9m = 7m"3cm

6(?:1 + 6m&8'/cm = 12m37cm (IIZ)mZOcm — llecm= |Z2mY9cm

2((;:1 + 12m74cm = [4m'74cm (8Ifn) |l 4cm — 6m = 2ml4cm

3(Zr>1 + 3m49cm = 6m49cm g:n)SOcm — 4m = |Im50cm
(ng)cm +5mlI0Ocm = 5m70cm gfn)SOcm — 10cm = 7m40cm
(I(qu)m48cm +7m = |8m438cm ilgsz%Ocm — 20cm= 13mI[0cm

84cm + TmlIbcm = TmY9Y9cm 6m40cm — |Ocm = 6m30cm
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